fO'PRACTO

_—

Instruction

| . - _/

sl Lg;

—— 1l |
"\-}2.\“::_\

1
et 0 )
1 H——l1] 0
H— | —q—H
] M
- HH—

<

L]
— Right Side plate
—1 4 A
Left Side plotey] T

V1L

[=
| 0
/

1. Assemble the mailbox through 7 screw holes on each side of the Mailbox.
(M6 screw, M8 wosher and M6 nut)

2. Assemble Left side plate & Right side plate
(M6 screw, and M8 washer)

Top plate

——
st
o1 ’\
o——o—] 1 o
|
[
f——-al,
I
U S P .
(
n
q
o——to—] _,\\
—t——H—1
LL—" [
Pole

i

\’lH

Y

Back plat

\ —

Bottom plate

3. Assemble Top ploate & Bottom plote
(M6 screw ond M8 washer)
4, Assemble Bock plate (M5 screw
J. Assemble Poles in case of POLE INSTALLATION,

(M6 screw)




